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Station AC10 (https://www.unavco.org/instrumentation/networks/status/pbo/photos/AC10)

Refer to the graphs on the next page to make the following calculations. Use a ruler or straight edge to help you read the graph correctly. 
Duration of the record ____10_________ years
Find the changes in positions. 
Remember: Change = Final position - starting position (so you could have negative answers)
Change in NORTH _____-16________ mm there is inherent uncertainly with graphical estimates so it is fine if students differ by 10%, maybe 20% for more noisy records
Change in EAST     _____-52________ mm
Determine the velocities: NORTH ______-1.6_________ mm/yr
			       EAST     ______-5.2_________ mm/yr
Use Pythagorean theorem to find total horizontal velocity ______5.4 ___ mm/yr 

Finally draw all 3 velocity vectors (arrows) on the map to show your findings.
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https://www.unavco.org/instrumentation/networks/status/pbo/overview/AC10
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Station AV24 (https://www.unavco.org/instrumentation/networks/status/pbo/photos/AV24)

Refer to the graphs on the next page to make the following calculations. Use a ruler or straight edge to help you read the graph correctly. 
Duration of the record ____10_________ years
Find the changes in positions. 
Remember: Change = Final position - starting position (so you could have negative answers)
Change in NORTH _____35________ mm looks like there may have been an equipment change after a data loss period. There is an offset to the south over the last year. I decided to choose the highest position the record reached before the offset. But there are other ways students might come up with
Change in EAST     _____-55________ mm
Determine the velocities: NORTH ______3.5_________ mm/yr
			       EAST     ______-5.5_________ mm/yr
Use Pythagorean theorem to find total horizontal velocity _____5.4__________ mm/yr 

Finally draw all 3 velocity vectors (arrows) on the map to show your findings.
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https://www.unavco.org/instrumentation/networks/status/pbo/overview/AV24
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Station AV25 (https://www.unavco.org/instrumentation/networks/status/pbo/photos/AV25)

Refer to the graphs on the next page to make the following calculations. Use a ruler or straight edge to help you read the graph correctly. 
Duration of the record ____10_________ years
Find the changes in positions. 
Remember: Change = Final position - starting position (so you could have negative answers)
Change in NORTH _____-2________ mm
Change in EAST     _____-75________ mm
Determine the velocities: NORTH ______-0.2_________ mm/yr
			       EAST     _______-7.5________ mm/yr
Use Pythagorean theorem to find total horizontal velocity _____7.5__________ mm/yr 

Finally draw all 3 velocity vectors (arrows) on the map to show your findings.
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Refer to the graphs on the next page to make the following calculations. Use a ruler or straight edge to help you read the graph correctly. 
Duration of the record _____10________ years
Find the changes in positions. 
Remember: Change = Final position - starting position (so you could have negative answers)
Change in NORTH ____48_________ mm
Change in EAST     _____35________ mm
Determine the velocities: NORTH _____4.8__________ mm/yr
			       EAST     _______3.5________ mm/yr
Use Pythagorean theorem to find total horizontal velocity _____5.9__________ mm/yr 

Finally draw all 3 velocity vectors (arrows) on the map to show your findings.
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Station AV27 (https://www.unavco.org/instrumentation/networks/status/pbo/photos/AV27)

Refer to the graphs on the next page to make the following calculations. Use a ruler or straight edge to help you read the graph correctly. 
Duration of the record _____10________ years
Find the changes in positions. 
Remember: Change = Final position - starting position (so you could have negative answers)
[bookmark: _GoBack]Change in NORTH ____-60_________ mm these snow-effected records are hard. Mostly just ignore the seasonal excursions and go with straight line behind
Change in EAST     _____-80________ mm
Determine the velocities: NORTH _____-6.0__________ mm/yr
			       EAST     _______-8.0________ mm/yr
Use Pythagorean theorem to find total horizontal velocity _____10.0__________ mm/yr 

Finally draw all 3 velocity vectors (arrows) on the map to show your findings.

[image: Macintosh HD:Users:prattsitaula:Documents:BethFiles:ANGLE:website-images:activities-resources:24_vol-monit-gps:beth development files:AV27_timeseries_cleaned.png]

https://www.unavco.org/instrumentation/networks/status/pbo/overview/AV27

[image: Macintosh HD:Users:prattsitaula:Documents:BethFiles:ANGLE:website-images:activities-resources:24_vol-monit-gps:beth development files:AV29.jpg]
Station AV29 (https://www.unavco.org/instrumentation/networks/status/pbo/photos/AV29)

Refer to the graphs on the next page to make the following calculations. Use a ruler or straight edge to help you read the graph correctly. 
Duration of the record _____10________ years technically this is more like 9.75 because the last few months of data were missing but most students won’t notice and it isn’t that important
Find the changes in positions. 
Remember: Change = Final position - starting position (so you could have negative answers)
Change in NORTH _____-75________ mm
Change in EAST     ______15_______ mm
Determine the velocities: NORTH ______-7.5_________ mm/yr
			       EAST     ______1.5_________ mm/yr
Use Pythagorean theorem to find total horizontal velocity _____7.6__________ mm/yr 

Finally draw all 3 velocity vectors (arrows) on the map to show your findings.
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